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Population of which time in a given year is considered for calculation of birth or

death rate
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One among the following i NOT consulted by the President of India for
appointment of Judges of High Court
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The first phase of General Elections, 2024 was held on
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* In vitro’ in ‘In vitre fertilisation’ literally means
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Winter Olympiad. 2026

Doexd e.fondieE, 2026

Common Wealth Games, 2026

Asiad, 2026
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World Athletic Meet, 2026
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‘Snatch’ and ‘Clean and Jerk’ are the terms used in this sport
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@ila Raipur sp{}rtrs festival is held in this state annually
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The Prime Minister of India has handed over the Presidency of G 20 in
December, 2023 to the President of
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Brazil
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The United Nations Economic and Social Commission for Asia and Pacific 1s
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BrahMos 1s a supersonic cruise missile that can be launched from
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The weekly English Newspaper started by Bal Gangadhar Tilak
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The Voice of India

4 % & ronh 'W::g :#lel'i‘v

Question Number : 12 Question Id : 69817714666 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Among the following the religions that took birth in Asia
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The painting that 1s named as per the bamboo stick pen that 1s used as a tool to
draw and fill colours
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This person has became the first from India to go on a recreational space trip
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Gopi Thotakura
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The ocean that 1s also known as Southern Qcean
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Remdesivir, a drug used in COVID-19 treatment was originally developed for
treatment of

~ [ Iy o
choy B R L oD i T L e e nE o Jouar TLp Tl afe TyEad b ot
Bab-19 D58 &° &u0rAcT TaGrab & Talio BulrBulaly & 088, 8o @ﬁ-@:ﬁ,‘;ig

I

Options :

3. %

A
2
2

Question Number : 17 Question Id : 69817714671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The Mirage 2000 single engine fourth generation jet fighters are purchased by
the Indian Air Force from this country
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In India. petroleum was first discovered in
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The author of ‘God of Small Things’
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India’s first underwater metro tunnel was inaugurated in this city in March,
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Perspectives in Education
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Among the following, identify the university that was developed in connection

with ‘viharas’ in ancient India
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In which year did the Government of India adopt National Policy on Early

Childhood Care and Education (ECCE)?
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The ability to do something well with expertise is
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Understanding
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One of the following does NOT promote gender equality among students in the
clasaroom
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‘No smgle teaching method 1s suitable to all the students’. It 15 an educational

implication of this Principle of Development
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Lack of Uniformity in rate of Development
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According to Erikson, if children of Elementary School Stage feel that they have

failed In learning new academic or social skills, this develops in them in
comparison with others
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stagnation
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Identify the INCORRECT statement with respect to a classroom implementing
the Constructivist learning theory
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The term ‘growth’ is used purely in this sense
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A child of Class VI solved the Mathematics problem in a different and novel

method from the method of teacher taught. The thinking of the child here 1s
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Critical thinking
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A teacher praised the student Pratima for helping others. Noticing this, another
student developed the habit of helping others. This 1s an application of this

learning theory
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Teachers’ right to take initiative and carry out necessary professional action
according to the school and the stakeholders’ needs 1s
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Match the following
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‘Knowing the world through circumstantial implication” mentioned n the
National Curriculum Framework for School Education (NCFSE) 2023 15
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Rehabilitation Council of India ( RCI) regulates and monitors services given to
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The primary source of values for human being 1s:
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Consider the following statements with reference to MOOCs in PG Courses,:
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A} Credit course shall mean a course which 1s taught for at least one
semester as a part of a PG Programme.
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B)  Non-Credit Course is part of any set curriculum and 1s always of a
longer duration.
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Earth Summit, 1992 gave birth to:
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The first ‘United Nations Population Conference’ (1954 ) was held at:

=)

i
S TR S S T o R T OE A Y K AR
EvyilAla cﬂ.:\,‘.tlt{‘i_ln_fhit—'_w 2300P8 coollPala 0 {lg:‘—]-' 358 =BAoh:

Options:
Paris

- =
oJPOed

Stockholm

S BB B
oS0l ol

Rome

9
B0

London

(
o

Ex
2im

Question Number : 39 Question Id : 69817714693 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the aspect that DOES NOT characterize globalization.
B50058m oS00 50 @oTeR) HBoPod.
Options :
Globalisation is primarily social process of integration associated with
economic aspects
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1.4

Rapid flow of information, capital. and goods

Reirardo, siredio HBc Hhde DHoEID Pariro
2. % N -
Social interactions bevond geographical and cultural boundaries
FRVDE 58050 AroidyyBE HB5Phen S FEras BB $en
3. %
Use of communication technology to connect people across the world
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Question Number : 40 Question Id : 69817714694 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



When we say ‘mentally healthy, it 1s healthy in terms of the following aspects

oo Erdhiorr af oy’ @l TR, b & Sob vomre Do 88BN
edo
@
A)  Emotional
&0
X

B)  Psychological
SPHeE

C)  Social Well being

D) Spiritual
@Tgégéﬂ
Chooze the correct answer:

[T ol [ T £ i-“‘a
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Options:
B.C & D only

B.C & D &érgs
1. %

A, Cé& Donly

A, C& Dirgsd

AB& C Olll;'
A B& Csirgad

3.¢
ABC&D
4, ®
Telugu Content
SectionId : 698177378
Section Number : 3
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 18

Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177482
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 69817714695 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 42 Question Id : 69817714696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 43 Question Id : 69817714697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 44 Question Id : 69817714698 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 45 Question Id : 69817714699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 46 Question Id : 69817714700 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 47 Question Id : 69817714701 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 48 Question Id : 69817714702 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 49 Question Id : 69817714703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

wr Lk & T T e o s O,
S T AECERPRRY o - = O e L AA Y
(030203 & &P e T 20806D oba 5o

Options
| % 28; sJoBér JHBn0srE
¢ .2, rTrdie



Question Number : 50 Question Id : 69817714704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 51 Question Id : 69817714705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 52 Question Id : 69817714706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 53 Question Id : 69817714707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 54 Question Id : 69817714708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 55 Question Id : 69817714709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 56 Question Id : 69817714710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Question Number : 57 Question Id : 69817714711 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 58 Question Id : 69817714712 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options:

SectionId:

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

English Content
698177379
4
Online
Mandatory
17

Number of Questions to be attempted : 17



Section Marks : 9

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177483
Question Shuffling Allowed : Yes

Question Id : 69817714713 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (59 to 60)

Read the following passage and answer the questions from 39 - 60:

In our approach to life, be it pragmatic or otherwise, a basic fact that confronts us
squarely and unmistakably is the desire for peace. security and happiness. Different forms of
life at different levels of existence make up the teeming denizens of this earth of ours. And. no
matter whether they belong to the higher groups such as human beings or to the lower groups
such as animals. all beings primarily seck peace. comfort and security. Life is as dear to a mute
creature as it 1s to a man. Even the lowliest mnsect strives for protection agaimst dangers that

threaten 1ts life. Just as each one of us wants to live and not to die. so do all other creatures.

Sub questions

Question Number : 59 Question Id : 69817714714 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to the author of the passage. all creatures long for
Options :

the basic amenities of life.

1. %

domination over the other.
2. %

peace. security and happiness.
3.¢¥

4 % pragmatic approach towards life.

Question Number : 60 Question Id : 69817714715 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The author mentions about the pragmatic approach to life. What 1s the meaning of the

A

word “pragmatic™

Options :

realistic
1.¢

> % wdealistic

3 % sarcastic

4w theosophical

Sub-Section Number : 2
Sub-Section Id : 698177484
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 69817714716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The accused was found gulty murder and was therefore sentenced
death the judge.

Choose the option to complete the sentence.
Options :

for: with: by
of: with: by
for, to: by

“ )

4 of: to: by

Question Number : 62 Question Id : 69817714717 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Thunder roars, cloud laughs, and the ramn kisses the earth.
Identity the figure of speech applied here.
Options :

Personification
1.4
5 w lrony
Metaphor
®

" Antithesis

Question Number : 63 Question Id : 69817714718 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct option to complete the sentence.

A: What happened to the city yesterday?
B: The city

Options :

was hit with a devastating earthquake.
1.4

will have hit with a devastating earthquake.

2. %
1s hit with a devastating earthquake.
3. %
4 % have been hit with a devastating earthquake.

Question Number : 64 Question Id : 69817714719 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate option to fill in the blank.

The performers danced and sang graciously much to the of the aundience.

Options:



Ammiuses

amiize

amusement
3.

amuzement

Question Number : 65 Question Id : 69817714720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct option to complete the following sentences.

Host: Hi! This’s your first visit to us. I must offer tea. 2
Guest: Thanks. I prefer coffee. ?
Options:
needn’t I: do you
1. %
mustn’t I: do I
2. ®

mustn’t I; don't I

. don’t I; don’t you

Question Number : 66 Question Id : 69817714721 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the subordinate clanses with appropriate independent clauses.

Subordinate Clause Independent Clause
A)  If she works hard. I she wouldn’t do the mistake.
B)  If she had worked hard. II.  she could have had them alive today.
C) If she were you, II.  she would have realised her dream.

D) Had she taken care of them earlier. IV. she will realise her dream.

Choose the correct answer.

Options :



A-I: B-III; C-IV; D-II

1. %

A-IV: B-III: C-I: D-II
2.
3 % A-III: B-I: C-IV: D-II

@ A-TV: B-III; C-II: D-I

Question Number : 67 Question Id : 69817714722 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate option to complete the sentence.

Last Monday I wvisited  college where my daughter is studying, to pay the
examination fee. and I met  Principal for  small favour of fee concession and
also to enquire with her if they were planning for _ educational tourto _ University

of Minnesota.

Options:

1 % & the: a: an: the

No article required: the: a: an: No article required

2. ®

3 % a; a: a; an; the
the: the: a; an; the

4.

Question Number : 68 Question Id : 69817714723 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The money lender spends money parsimoniously.

Choose the appropriate svnonym for the word “parsimoniously™ in the sentence.

Options:

| % ruthlessly



loosely

-

generously

miserly

Question Number : 69 Question Id : 69817714724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The reason for the absence of the great person at the meeting 1s conspicuous.

Choose the appropriate antonym for the word “conspicuous™ in the sentence.

Options :
discovered
1.
uncovered
concealed
3.4

4 % revealed

Question Number : 70 Question Id : 69817714725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The political opponents spread a of lies about each other.

Options :
1.« Ppack

, y full

groy
-



. Series
4, %

Question Number : 71 Question Id : 69817714726 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

My son has developed unnecessary fear of heights. He 1s now suffering from

Options :

i crgophobia
acrophobia
anorexia

gynophobia

Question Number : 72 Question Id : 69817714727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

The teacher asked the students what they were doing then.
The teacher asked the students what were they doing then?

2. %

w The teacher asked the students what they were doing then?

The teacher asked the students what were they doing then.
4, ®

Question Number : 73 Question Id : 69817714728 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

With climate change at every doorstep. the world 1s struggling to get r1d of poverty.

Identify the appropriate word for the expression “get rid of”.

Options :

prevent
1. %

, conti ol

3 @ eliminate

4 % limit

Question Number : 74 Question Id : 69817714729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the CORRECTLY spelt word from the given options.

Options :

1 % attendence

attendanse
attendense

attendance

Question Number : 75 Question Id : 69817714730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the grammatically CORRECT sentence.

Options :

| @ Sushmitha 1s the cleverer of the two sisters.



Shylock 1s the most cruellest of all Shakespearean characters.

My brother’s handwriting 1s more beautiful than Aishwarya.
3. %

Hyderabad 1s larger then Warangal.
4, ®

Question Number : 76 Question Id : 69817714731 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct option to fill in the blank.
A: May I know when you reached the venue?
B:1

Options :

. Was reached at 9 PM.

reached there at 9 PM.
2.

would reached there at 9 PM.

3. %
had been reached there at 9 PM.

4, %

Math Content
Section Id : 698177380
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18
Section Marks : 9

Maximum Instruction Time: 0



Sub-Section Number : 1
Sub-Section Id : 698177485
Question Shuffling Allowed : Yes

Question Number : 77 Question Id : 69817714732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is a terminating decimal?
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1.% 9
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Question Number : 78 Question Id : 69817714733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The value of 272 - 132 is
277 - 13% Gn¥; Dens
Options :
196



Question Number : 79 Question Id : 69817714734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the area of a circle is 616 em?, then its circumference (in cm) is

22
(ugem ==
7

2.8 54!;.@( EJ_,EK; EEE'?_:'ZG 616 3. 0000 @ona, T ':T)‘L_:J"'_ é‘ﬁh{?&':ﬁl al.ed" )
p 22 -
(r==—2 ndirfosSod )
Options
1. % 44

o |

L2
2. %

58
3.¢
4. % 66

Question Number : 80 Question Id : 69817714735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If{:x+2:} B (x—3) - (2x—5)
4 5

(x+2) (x—3) (2x—5) - "
== = oo, X oJeDod
4 = =

. the value of x 1=

Options :

1.¢ 0

Question Number : 81 Question Id : 69817714736 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A shirt and a frock cost T1380. Three shirts and two frocks cost T3110. The
coat of a frock 1=

2.8 §°5%) nbdw &8 [ad §F 71380. &7th &smen s00050 Coth Mene 08 T3110.

Options :
700

1. %

Question Number : 82 Question Id : 69817714737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If mean of 6, 4, 8, x and 12 is 8, then value of x? is

6, 4, 8, x £8cn 120 Jitén 8 wona, x2 Dend

Options :

Question Number : 83 Question Id : 69817714738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Four angles of a pentagon are 148%, 77°, 136° and 93% The value of its fifth
angle will be

modiha {T&:éé-r Tenih Peren 1489, 770, 136° 86 93°, wonad. 2 0d Fmo

1

o A
i
aJ@0od

Options:
83°
1. %

o % 104°

3. v 86°

Question Number : 84 Question Id : 69817714739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One and half kilogram sugar 1s added to two and half kilogram wheat flour to
prepare a sweet. The percentage of sugar in that sweet 1s

-
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Question Number : 85 Question Id : 69817714740 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

212
&

Which of the following 1s equal to —

@ Y - sl ad 4 J
200 arBE” 06 — 8 Heirdoe?

Options:
0.05+0.003

_|_
10 100
4.v

Question Number : 86 Question Id : 69817714741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the work done by (x + 3) men in (2x — 1) days and the work done by
(4x — 2) men in (x + 4) days are in the ratio 2 : 5. then the value of x 12

(x + 3) H%pen (2x — 1) Bered® 328 52 HBaH (4x — 2) Hhde (x + 4)

T - 1 o T T N
ered” don a0 21 5 dandd” o8, X GDE) dend

Options :

1
1.4



Question Number : 87 Question Id : 69817714742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
AABC ~ ADEF, AB = 108mm and DE = 84mm, if the perimeter of ADEF 1s
35 cm, the perimeter of AABC (in cm) 1s
AABC ~ ADEF, AB = 1080.8b. 80 DE = 848.20., ADEF G hénSed

35 D0.8 won@, AABC Gng) henfes (Ro.8h.os°)
&

Options :

\ %35

Question Number : 88 Question Id : 69817714743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The length, breadth and height of a cuboid are 18cm. 9%em and Sem respectively.
If it 1= cut into smaller cuboids of length, breadth and height 6cm, 3em and 2 em
respectively, then the maximum number of small cuboids can be obtained is
0.5 Bhdo Gng XS, Jeny HBED fen HHIT™ 180.8b, 020.5 %865

0.8, 829 $rES, FE Beny 2080 Jfen HHAMT 6330.85. 320.85) %860 220500
Seoden OA0 08 &Eq.um enr® §880056mma, SPolieo D% %Eq&?p_- 183 dogy

Options :
3% 27

1. %

32 % 32
2. v

22 %3
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Question Number : 89 Question Id : 69817714744 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
25% of which of the following numbers 1s equal to 12 iﬂ: of 180?
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Question Number : 90 Question Id : 69817714745 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The next number in the pattern 1. 4, 13, 40, 121 1s

iy - Y &
esnBES” Somed oy

1,4,13, 40,121

Options:

| v 364
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L% ]
A
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4. %



Question Number : 91 Question Id : 69817714746 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In the product of (x — x?) (1 + 3x — 2x?), sum of coefficients of x* and x is
25060 x3 B x Hessee adndo

(x — x2) (1 + 3x — 2x?) G¥; e

Options :

5
5

1.% —

Question Number : 92 Question Id : 69817714747 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
If the centroid of a triangle with vertices (2, 7). (x,—5) and (1. 4) 1s (3. 2),

Y F ol o e = 4 f %
2y Bdheso SIS, Mt Solio (3, 2)
F - \,

then the value of x 1s
(1. 4) dorenre 63y (&

- #
A F’-..l‘“""."‘ 3]

{: 7:| (l._E) o300

Question Number : 93 Question Id : 69817714748 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



Which of the following is NOT a Pythagorean triplet?

B 2 rh = = PR - =0,
Sob OE° DEEntdiha (550 SN0 067

14, 48, 50

Question Number : 94 Question Id : 69817714749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Complementary angle of 35° 1s supplementary angle to angle p. So. the value of

angle pis

n I o

T A i o T W 10 - 0 = WY

Ed™ oS n_!O&E'FDé 0. ®ond, 'm0 P Qo5 BJEDS
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Science Content

SectionId : 698177381
Section Number: 6
Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 18
Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177486
Question Shuffling Allowed : Yes

Question Number : 95 Question Id : 69817714750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The equivalent value of 10 cm? among the following is

e B R SV T L R T
bOE‘ ”E'u’?'_“ J.O 0. *:u\., S ollPrlglled elelod

Options :
10 mL

1 10 20.5.
10 L,
10 9.

100 m?
100 &°

100 mL
100 £0.9.

Question Number : 96 Question Id : 69817714751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Water 1s NOT suitable for fires involving o1l and petrol because
St 560 DEFens® ErlS Sobed DD SASH 59K, Jothos
Options :

1.4



Water is heavier than o1l and petrol, it sinks below them and o1l keeps

burnjng on the top
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water does not harm the electric equipment.

5% )t & ;BETre D EDA0NM.

water can be stored in cyvlinder under high pressure.

. - H s #
:': ] '-:-"::'ﬁ; o& Lh/%(::' cu(: b.-@':'-..ag .u"\__' -?\.,'o % '{:'j::{‘:l__hﬁ::_‘..

water covers the fire like a blanket.
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Question Number : 97 Question Id : 69817714752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Earthquake 1s caused due to the disturbance deep inside the Earth’s

&rin D?s:égr Hasrte -Grﬁﬁc ot o .E el Ho drdodo dogddod

Options :
Outer Core

&= erai; Solio
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Mantle
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Inner Core
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Crust
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Question Number : 98 Question Id : 69817714753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One millennium 1s equals to
R DeRdbo BIS KBirdo

Options:
10 decades

10 centuries

10 E@eepen

10000 vears
10000 Soske,oren

Question Number : 99 Question Id : 69817714754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The more attracting capacity of a bar magnet lies at
d{:-r;'-cﬁﬁzf?;oﬁjc;é'g NV w5800 ??&?3:-?:@ 35,8 Gotnob
Options:
North pole only

&85 5o B
1. %



South pole only

BEes Hydo dmEadh

Middle part only
3. %

Both North pole and South pole

&85 Fybo HBAM B8 ByHo Bokr
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Question Number : 100 Question Id : 69817714755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Thomas Alva Edison’s electric bulb experiments, this filament burned

continupusly for 45 hours
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Options :
Platinum

Eylatate!

Cotton
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Bamboo
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Tungsten
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Question Number : 101 Question Id : 69817714756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the f{}l]n:rwing statements

G
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Statement I : Physical changes are temporary.
il I . aas o PE e &5 ,_Jé_i_nf*
Statement II : Chemieal changes are permanent.
aecepe 11 D BArGDR Srdyen 0 E S8R

C]?LCIDSE‘ the correct answer.
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Options :

Statement I 12 true and Statement II 12 false
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Statement II 12 true and Statement [ 1= false
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Both Statement I and Statement Il are true
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3.¢¥
Both statement I and Statement II are false
a1 so8ain gy 11 e Gotir edé;o
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Question Number : 102 Question Id : 69817714757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement among the following

Eof eEt 208 el hBodol

Options :



PVC 1z a thermosetting plastic.
PV C ":'r'r,_lp'_l QF_F rCES .;__,'3?\_,3

Bakelite 1s a thermosetting plastic.

Thermosetting plastics are re-mouldable.
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Thermoplastics are not re-mouldable.
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Question Number : 103 Question Id : 69817714758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Srinivas used a separation funnel to separate kerosene and water. which
substance remains in the funnel after the experiment
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Options :
both kerosene and water
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naphthalene
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Question Number : 104 Question Id : 69817714759 Question Type

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following:

st Sol

A) Autotroph
r0hosFido

B) Heterotroph
Flebndsicle

C) Saprophyte

D) Parasite

Chooze the correct answer:
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Options:

i)

111 )

1v )

A-1n1B-m:C—-1:D-1v

1. %
A—mmi:B—aC—1:D—1v
2. %
A—11:B—iv-C—1:D—1n
3. v
A-mB—-1wv:C—1u:D-1
4. %

Mushrooms

Cuscuta
Holyy ol

Chlamydomonas
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Amoeba

: MCQ Option Shuffling : Yes

Question Number : 105 Question Id : 69817714760 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Nuclear membrane is absent in the following organism

& Eob 2AS° B8 E.ifo totith

Options :
Amoeba

20 1 s

1.ﬁ Lee WL

Euglena
atreAae
2. ® -

Bacteria
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Question Number : 106 Question Id : 69817714761 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Sexual reproductive part of the flowering plant is
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Options :

Stem

Leaf
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: MCQ Option Shuffling : Yes



Flower
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Question Number : 107 Question Id : 69817714762 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The endemic species of Australia 1s
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Options :
Kiwa
= oy

1 ) i@ b LW,

Pigeon

2Paydo

Kangaroo
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Somtho

White tiger

=} ey
dBEl oJjed
B ajes

Question Number : 108 Question Id : 69817714763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the renewable natural resource from the following
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o
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Petrpoleum

Forest
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Diesel

Question Number : 109 Question Id : 69817714764 Question Type

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Match the following:

eadiaaliods

A) Carrot i)
5“3;-55

B}  Potato i)
0P Einon

C)  Onion iii)
6@4 fri_f

D) Chrysanthemum iv)
IPe00&

C]TLIDDSE‘ the COorrect answer.
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Options :

A-1n:B—w:C—m;D-1

A-m:B-1un:C—-1:D—1v

A—1;B—uiC—1v,. D—1

Suckers

: MCQ Option Shuffling : Yes



A-n;B-—m;C—1; D—1v

Question Number : 110 Question Id : 69817714765 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The zericulture 1= related to
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Options :
Silltworms
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Honeybees
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Prawns and fishes
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Question Number : 111 Question Id : 69817714766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Following one is a NOT a connective tissue
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Options:

Bone

o
o.
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Muscle

Cartilage

o
50 ters
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Question Number : 112 Question Id : 69817714767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The branch of science which deals with the tissues 1s
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Options :
Cytology
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Section Number : 7

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177487
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 69817714768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The winds blowing from these causes rainfall to northern and Western Europe
throughout the vear
& Hdare ToTe 85 HB0D $83 06 b SPEDS Stareed) sdron

ol 3 &) ol -5

Options :
Trade Winds
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Westerlies

Monsoon Winds
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Question Number : 114 Question Id : 69817714769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



About 5000 years ago. the Eskimos first entered North America crossing this
from Asia

Hiir 5000 SosETre o, dfyTren sBCE Hof B
oDOStE Hadomrd
Options :

The Strait of Gibraltar

The Bering Strait

Boh mebof
5 =80 06
The Strait of Malacea
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The Strait of Magellan

Question Number : 115 Question Id : 69817714770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mineral used extensively 1n electrical and electronic Industry is

e é:.*f- HBain 5;;1-5;?;% 2BFS” D yBore &XETA0D Dm0

Options:

Manganese
sofidR

1. %
Barvtes



Feldspar

2S5
Mieca
4.v

Question Number : 116 Question Id : 69817714771 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Among the following. the geographical area of these countries 1s more than

India
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Options :
Canada. Germany and Russia
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United States of America, Brazil and Canada
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Indonesia. Australia and Brazil
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Question Number : 117 Question Id : 69817714772 Question Type :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

MCQ Option Shuffling : Yes



The Ocean water current which flows slowly 1s called
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Options :

Stream
=
Drift
s
2.¥ 5
Dvke
3. %
Gulf
E‘EEEC:,
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Question Number : 118 Question Id : 69817714773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The rivers like the Dnieper and the Volga are originated at

396 0Bl Fep Hodd Sthen & prodos” & doTron
Options :

The vast plains of Eastern Europe
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Ural Mountains
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candinavian Ranges

Question Number : 119 Question Id
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: 69817714774 Question Type : MCQ Option Shuffling : Yes

One among the following is NOT the boundary of European Continent
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Options :

Arctic Ocean

Baltic Sea
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Ural Mountains
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Question Number : 120 Question Id
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: 69817714775 Question Type : MCQ Option Shuffling : Yes

In Andhra Pradesh. the Land Ceiling Act came into implementation from
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September, 1972

Daowbd, 1972

January, 1975
2.
August, 1949
e, 1949
B
April. 1951

DS, 1951

Question Number : 121 Question Id : 69817714776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct pair from the following

Eob o ool 508 =D Doodol
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Options :

Srinadha - Knidabiramam
Eetsntd - ffordio
1.4
Vallabacharya - Prataparudra Charitram
TSt Nilevliad) - pEHHREsEo
2. %
Ekamranadha - Palnati Veerula Kath
TR ERTPED — Do Ede 88
3. %
Vidyanadha — PrataparudraYashobhushanam
B ARl a5Tey) — |[PaErad ahEeaeso
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 122 Question Id : 69817714777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Panini authored Ashtadhyayi in Sanskrit. It was a/an
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Options :
Autobiography

Biography

ot N I
) o
Cioleh TIOIE

y LS&

Grammar Book
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Question Number : 123 Question Id : 69817714778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the maimn aims of Europeans in Africa was to
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Options :

exploit the mineral resources by using the Africans as servile labour
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exploit the human resources and malke them to work in the fields

w58 SPSE $5HeH BHED 788 Porest HABowoHE N

develop Africa by establishing industries
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3. %

develop Africa by taking up agriculture using modern methods

PSR DEWeD GHAErACY SHTrdird 085,0 Th 8RN wdih)h ddbo
4. W Tl ol bt

Question Number : 124 Question Id : 69817714779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The main objective of East India Company trade policy was
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Options :
To buy goods at a lower price and carry them to Europe and sell at
higher price
85 H6% HDhPeh Fi 2% 2B PSS 8580 0%¥ A%

DSowotito

1.4
To establish British rule in India
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2. % -
To provide market for their finished goods
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To supply raw material for their industries
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Question Number : 125 Question Id : 69817714780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Siklkim, an independent country till 1975, was ruled by these kings
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Options :
Chogvals
ﬁ“ eren

1.¢

Lamas

Wangchulks
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Shahs

Question Number : 126 Question Id : 69817714781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following 1s the provision of ‘Right of Children to Free and
Compulsory Education (RTE) Act, 2009
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Options:
The candidates who are able to teach are alone shall be appointed

teachers
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Children can continue in the school even after 14 years for the

completion of Elementarv Education
P 1
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Board examination shall be conducted to the children during

Elementary Education

Ensure availability of Elementary school in the radius of 10 km.
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Question Number : 127 Question Id : 69817714782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The banks DO NOT pay any interest for the amount deposited by the
customers in thiz Account
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Options :
Savings Account

BREEE

Current Account
¥80é5 grae

2.
Term deposits
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Fixed deposits
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Question Number : 128 Question Id : 69817714783 Question Type :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

MCQ Option Shuffling : Yes

The preamble of the Indian Constitution begins with these words
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Options :

The twenty-sixth day of November
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Social, Economic and Political Justice
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Assuring the dignity of the individual
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Question Number : 129 Question Id : 69817714784 Question Type :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The parhament alone makes the laws on these subjects
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Options :

the law relating to money and banking
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the laws relating to agriculture and Irrigation
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MCQ Option Shuffling : Yes



4. %

the laws relating to Police and Health Care
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Making of an educational poliey
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Question Number : 130 Question Id : 69817714785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Vice Preaident of India 1z elected by
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Options :

The elected members of the Lok Sabha and Rajya Sabha only
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1. ®
The elected MLAs of all the states and Union territories
o O Tape HBa S0l ar8 @Eromreh Bobd JES JaBe
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The elected and nominated members of both the houses of Parliament
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The MLASs of all states and the members of the Parliament
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Number of Questions to be attempted :
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Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 69817714786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 132 Question Id : 69817714787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 133 Question Id : 69817714788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 134 Question Id : 69817714789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 135 Question Id : 69817714790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 136 Question Id : 69817714791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177489
Question Shuffling Allowed : Yes

Question Number : 137 Question Id : 69817714792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘My English World” is the title of the following.
Options :

English course books for primary teachers in Telangana

English work books for classes 1 to 5 of Telangana

English textbooks for classes 1 to 5 1n Telangana
3.

English course books for college students in Telangana

Question Number : 138 Question Id : 69817714793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This set up 1n a primary level English classroom increases the learners’ access to the

books.

Options :

Book sale comer

Playing corner
2. %



School bag corner

Reading corner
4.

Question Number : 139 Question Id : 69817714794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Pick the sub-skill of “Writing’'.
Options :

Understanding ideas and mformation in spoken text

Summarizing the whole text or specific idea graphically
2.

Guess the meaning of unfamiliar words

Predicting what people are going to talk
4, %

Question Number : 140 Question Id : 69817714795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English phonology has

Options:

20 consonant and 24 vowel sounds.

20 consonant and 14 vowel sounds.

24 consonant and 20 vowel sounds.



34 consonant and 20 vowel sounds.

Question Number : 141 Question Id : 69817714796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
When we sing a rhyme in an English language classroom. the primary aim 1s to
Options :

help the learners to write effectively.

1. %

teach the learners the grammar of the language.
2. %

make the learners understand the words.

familiarise the learner with the English sounds.
4.

Question Number : 142 Question Id : 69817714797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Vikas 1s usually busy in the morning: so he reads the newspaper headlines quickly to

get a general idea or gist of the news items. The reading strategy he adapts is known as

Options :

skimming.
1.4
extensive reading.

mntensive reading.

SCanning.



Math Methodology

SectionId: 698177385
Section Number : 10
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177490
Question Shuffling Allowed : Yes

Question Number : 143 Question Id : 69817714798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a learner translates his/her understanding of decimal fractions to different

units of measurements 1 decimal form. This statement 1s of following teaching

objective
-3 F o 4 —_ R e . o ":
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Options :
Knowledge
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Understanding
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Application
23&»Ho
3. ¥
Skill
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Question Number : 144 Question Id : 69817714799 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
At an early age of the child, if he /she learns to use numerals for the numbers,
the way of learning of the child at this stage:

r
£owf . v “
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Options :

Ccrncept 1n concrete from

&r _.5‘::. ] "\j '-*u DJO‘E‘H

concept 1n abstract form

gPRNen ®ard Sraod

3. %

Operations of numbers.

LT . Y Y
e OEIreEm” 20 Z?-GJJ £1)

4. %

Question Number : 145 Question Id : 69817714800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Indian Mathematician who gave Pythagoras theorem before Pythagoras

was

R T S L R o ) Y T WA NV i WA 0 Lad A Dot ok e
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2 2 i

Options :

Arvabhatta



Baudhayana
A ARloVI
C.
Bhaskara Charya-II

*ﬂ{‘f: ey -11

Srinivasa Ramanujan

Question Number : 146 Question Id : 69817714801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following statement is NOT applicable for Mathematics subject
808 a&t Hlda e 8 uaﬁaiﬁ?i Bodam /en
(1)  Mathematies is a science of numbers and space.

&30 doPren HBED vosTEoH Joaohodd o

Hied a3
(1)  Mathematies is a science that draws necessary conclusions through logic.
&850 T DT el Eo
(1) Seience of caleulations
Nesdd 3 L_C*
(1v) Understanding a phenomenon purely based on empirical observations
B)fsadired odmrPEs BB S8 Bde0 BDS 535%?;-56&3: srEdatiod
(v)  Means of generalizatiml though reasoning.

88 QBT Ty @ PrrSBEtno Adhéo

ChGDSE‘ the correct answer:.

Options:
ii & v only

1. % 11 & v 5:!?[_@':?.::‘



iv & v only

e Gy emgh

v only
3% v S

v only

1V 3PE8al
4.

Question Number : 147 Question Id : 69817714802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A teacher can better understand the strengths and weakness of a learner after

conduct of test in the Mathematics, if one does the following things

R V- ¥ ; ;oW R T Y v v S
Hesdod® 208 Adires 8%ard & ol J0on 3068, wgridl nere, S are) ePrr

(1)  Just going through the overall grades and marks scored by the student
in the test.

2656 Domb rBONS Bndo drdyes B (e Srorabr Srdko

(1) A cursory look of the answer scripts of the learner
’P;f""'*‘;rf}é} RV AL ml@”oﬁ Sedhe Jrd¥o

(1)  Analysis of student wise question wise responses
r;BPOre BYemd smrme Jgkin Jdhdo

(iv)  Analysis of total marks or overall grades achieved by all the students
H8get iagievablaley TS o Py e [itde HIde DEDKo.

(v)  Content wise analysis of students responses in the test
Didrome b Dshe B3aTPENEIND Q{wﬁa Fdbéo

Choose the correct answer:

R0 SePEPRPd) ooth8 ol

Options :
1.4



iii & v only

i1 & v ErEa

1, 11 & 1iii only
1, 1 & il Sr @
2. %
111 & 1v only
3 % il & iv SrE D
iii, iv & v only

iii, iv & v Sreah

Question Number : 148 Question Id : 69817714803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following 1s/are NOT the good characteristics of mathematics textbook at

school level

8oB PE FTe 3;03;63 Hed& ardhddo Ging) HHod eFno SRA:

(i)

i)

(v)

Presentation of content in accordance with age appropriate of a child
eyt $0HS EAds DRArR) B0dbEdbKo

Reflecting the stated curricular objectives of the mathematics,

Hed ardperds oFed Haloflodto

Having appropriate and interesting illustrations

B, BES8IS Kyaposren DA toto

Comprising many solved problems as examples and few problems for
exercise

BT POee APHODN Hiiden BT B0, WEF5R0 8540 5y e )
%n"’);iﬁo

Promoting self-study and independent work among the students.

Ar;thod® &yoh efdhrd) HBA Syosor HITEHERY EFERroto.

Ch‘]ﬂSB the correct answer:

0% SEPrrd) ool

Options :

4, %

1v only

iv SrEah

v only

v Sr@ab

iv & v only

iv & v SrEd

ii & v only

i & v i@



Science Methodology

SectionId: 698177386
Section Number : 11

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177491
Question Shuffling Allowed : Yes

Question Number : 149 Question Id : 69817714804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
At present in our Telangana state, SCERT prepared EVS text books by
coordination of concepts of science, soclal studies and environmental education
for classes 3.4 and 5 in the name of
Erhdo 8 Beorres o080, SCERT 3.4 805 5 #8ithed er Sl p:ﬁp snbdiD
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Options :
We—our environment
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Question Number : 150 Question Id : 69817714805 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Adjusting to new situations is called

r -

g MO8 oo ab b £
B¢ mbosnod r't'.u.,., 00 ?_._t_-_,S Q,E.“O el
g
@

Options :
Incorporation
R0 IS0

1. %
Cooperation
marsedo

2. %
Accommodation

3' w %-A,{L u--:.- &)
Assimilation

Pod80es
4. %

Question Number : 151 Question Id : 69817714806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
During the Covid-19 pandemie, audio-visual lessons were broadcasted through

these channels mn Telangana state.

Options :

P.M e-Vidya Channels

' chlxr:' _' g:-f-“'" -\'_.‘-EE%T;
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Question Number : 152 Question Id : 69817714807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct Statement from the following.

Eobd 78E® D0W srpsd DBool.

Options :

Concrete to abstract approach is used in Deductive method.

308 adireol @ird dadired 3%, &.,'f;é' SNE0S HHE.
= w | &
1. %
Specific to general approach is used in Inductive method.
PEs woare Mol ;rrds dNdred 38, mcaﬁé 2 TabE I a’:g:if_a,
= ] Y
2.
Assignment method is not suited for small class.
DGIPesd HO&E D5 S61&E 5655,
3. % @ '
Teacher finds solutions to the problems in Heuristic method.
1ﬁ:‘“ @i'_l FB '°—':'m C-..;EE’ u:-;f:'k'_'? u:u l:'_‘?”':‘é DKE!“.J_.;E =Y :CIF‘_':* el Beirfi oD,
4. %

Question Number : 153 Question Id : 69817714808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

In which app the digital textbooks are available in Telangana state?

x "
O N g u’ T, IR N,
20T U“'-:H«._ &° GRS oD mBCED o) GiPa) & Wolberind” &o°on?

Options :

T-SAT
& —aJeé5

1. %
DIKSHA
o3

2.
e—Pathshala
B—ariare

3 @ &3 £
SWAYAM
Ei;ctbo

4. %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 154 Question Id : 69817714809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the following statements and choose the correct answer

.
- Y o= SOV YU LRV Le N Ny
Eob PN STV AlAT a) w08 r,.!cu_"‘g":'-:,."':\,; oJOTD5 00

StatementI :  Mind mapping shall be done in the first period of each leszon.
aJor c!.-_]: ; -: Jed _Ln\jf'ﬁ Eslaloh ::{CIU'TH_, : ) ’:uJOLJ ol -:.-CI(EI ?...O:CJL‘"J
Statement II :  Teacher should ask probing questions only in the first period

of each lesson
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Statement I 1z true, Statement II i1s false

Statement II 12 true. Statement [ is false

sl 11 Rﬁ-rf;f I WE0
2. %
Both Statement I and Statement Il are true
E.‘FJ&.,; I 58060 ar q I Cotse i w._
3. %

Both Statement I and Statement II are false

el E0r I 580 o II Coisr '?:'-'M@J ]
4, % c

Social Methodology

SectionId : 698177387
Section Number: 12
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 3
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177492
Question Shuffling Allowed : Yes

Question Number : 155 Question Id : 69817714810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘What do you like the most in cities and villages?’. This question aimed at
achieving the following academic standard.
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Options :

Experiments — Field observations

@Erren — 5 HB8oden
1. %
Appreciation and sensitivity
o — mahdio
2 \-\.;';2 b [=_9 D
Information skills and project work
[Eroed Fdeecen, @PE%H H9
= e & =
3. ®

Reflection on contemporary issues and questioning

o
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4. «

Question Number : 156 Question Id : 69817714811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following related to puppets

&end $00% domobot) & Sob ardd) adhdtiol

| 11
A)  Glouse puppets 1)  Puppets which are presented between
TE Eend e lamp and screen

rl

P” nd° :u) e 2.5 Bao snbdin 80 E“Jd;‘

(alofointaaletazlowy
B) String puppets ii) Puppets which are played by wearing
doh Eens e on hands
e 88 FOF,D J¢E
siodoiaron
C) Shadow puppets ni) Puppets which are played with rods
Fafe Eend e e o, ook & slodateran

iv) Puppets which are played with thread
s Trre S5#0hoE
sodataron
Choose the correct answer:

u:\_,':]:) ol PR rJ‘ -:a..':loj::i ‘j_fi";gé:

Options :
A—-1u,B—1mwv;C—-1

1.9
A—mB—1C—n
2. ®
—wv: B—1: C —1
3.
A—1n:B—m: C—
4. %

Question Number : 157 Question Id : 69817714812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements is NOT TRUE related to participatory
method?

geiiarsa; 2068 Sonodot) & Sob TEwed” 0b $0sE?

Options:

Participatory method is a sc}cic}]ﬂgical process

Eq?ﬁ;;:f'z‘gﬁﬁ"; oICIe l'_n.pé PP RS cul::
1.% C

Students learn by themselves through participation in learning

Ay p_ﬁé“ "_:‘h:}” Y] 5ETR P odd® QTLE&E o0 S5nodts @b Eti:w”:bo&*-“ti:

2. ®

Students learn by participating in discussion and debates

APy S)e, HoTrrred® srdlotir JETotrd
3. %

Students learn by listening to teachers teaching and retain for long time

S0 §7555 Dot Heen Iy Hotrd 586 Trerseo

Tbhoththotrh
4.

Question Number : 158 Question Id : 69817714813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following statement 1s NOT TRUE related to National Curriculum
Framework (NCF) - 2005 guiding principles?

P&AH A werdse Sgo (NCF) - 2005 c:*%‘?\, 58 drEredh dooobod) & Sob

BVl of 0f $050%?

Options :
Textbooks should be useful for meaningful learning and knowledge
construction

P8 ByRsPen 22 QoeES, wiBodorr J8,F S8 &EraNeed



Children should learn in natural environment by utilising their innate

abilities
Hen 808" &%) B0838 §5H0 3ArA0d SiFe TErdlnod” o fHoTd
2. %
Rote memorisation should be encouraged for meaningful teaching
learning process
P 7 ' o
S el @Eah @“5@@@33‘? evLTafme = L,,vaé- PR (P8 erooeE
3.¥
Curriculum should be child centred
2; @edE 34 SofhdorT tod
4, %

Question Number : 159 Question Id : 69817714814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following statements are TRUE related to skill of questioning?
230t SR8 Somogot) & Sob ars of 20853 28)7?

A)  Psychologists say that questioning is the first step for mtellectual

development
@3oiito Lﬁﬁi‘é{;}fﬁ]g &0 &a o%) HS E'J 7 g.c_.,:!:_u Bena) WD

B)  Probing questions develop the deeper levels of cegnitive domain
# e ,JJ, T - T
@ar SR g e {%‘?K) Boilo GnE) "85 Aroned osrobaron

C} Prnbing questions provoke thinking and imaginations to find answers

=
#

SirTrey JRH0E N0 8T ErE)S Baen s&t 55 e .dﬁ%ﬁjoz:

D)  Surface knowledge questions help to develop creativity among children

5 At e B, f o Fomy S ok R =
63880 &S BEen Heod® Syprd B8N DosPobohid” 8¢ heron

ChGDSE‘ the coIrect answer
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Options:
1. %



ABC&D

A, Cé& Donly
A C &-'.' D E:I_‘J’-‘sl_li?;c??:}

2. %
A B & C 01115'
A B& Cargdh
B.C & D only
. B,C & D simgsad

Question Number : 160 Question Id : 69817714815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Due to development of these values, the pupils are enable to respect all the
religious and celebrate the festivals together irrespective of religion, respectively
& Denden DosPotido d0d EJC?UDXEM B e TEJRE HHbok $#08° Homatio

e F ’ P
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Options :
Democratic and cultural values

3 2o Joad BE DenSen
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National and vocational values
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eS8 dD, Hy80 denden

2. ®
Practical and political values
e30e 8,8, TresSaD Jdenslen

3. %



Disciplinary and democratic values
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